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Module Name : TET - Paper 1 - Tamil
Exam Date : 19-Oct-2022  Batch : 14:00-17:00

Q. No. Question Body and Alternatives

1 I "Knowing is a process, not a product" stated by :
"Q&&H6L 6TETLIS QG ML FEFS WITET Q&F W6V, @) MIS)WIM6T (LOLL.6U6V6V" 6T60Td Sn MWL

A : Bruner
L@ eoor
B: Gergen
@830 &3601
C: Vygotsky
M6USTL 6V G
D: Kuhn
& 60T
2 2| The teacher gives the prizes for each and every responses received from her/his late blooming child in the classroom which training is applied by the
teacher ?

AAANWT Heral UG LILIMMUNGD 2_6T6T GILNEVEV LDEVBHLD LDITEITE T8 55 G QUMD Sl6VMHIGHEHES G LflFafl&&Hmmy.
6Th% auend LWhFenw Al LweTUuBGSSIR DT 2

A : Punishment Training
SevorL_emeor 1 LIUHS
B: Reward Training
urfle eupiiGn LuHS
C: Escape Training
S5ULS8 i sev LD

D : Omission Training

sailfsse LuIHe

3 3 Which of the following is not a Gestalt principle ?
B LD & 5 600T L6 HMIET 6131 'Q &6V TEVL' Q& METEm &5 LIEV6U ?
A : Law of Proximity
@)\6uoTE:8 NG
B: Law of Disuse
LwesruLm ell&)
C: Law of Closure
SiemL e 6fE)
D: Law of Readiness
WSS NS
4 4 | Physiologist Pavlov belongs to which Country ?
2_emallWeLITET LIM6U6VT6) 6TH& BT 60L& FMIHSeUT ?

A: America

ENAINiES:

B: Russia
geigwim

C: Ttaly
@55

D: Canada
&He0TLIT

5 5| When the learning in one situation hinders, interfers or weakens the learning in another situation is :

SHUMGSS RO GLblmeuile) O SMHmeTaTs LHEADTH EhBlemnauils HHname 5H&HOH D!,
GOIERORMS S6vevg LievaTar ILIHGHRMS! 6T60TLISI 6T61AIEN S LOMDHMLD ?
A : Positive transfer
GBI LTHMLD
B: Zero transfer

LLS3W LOTMHMmLD
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C: Negative transfer
&I LDMHMLD
D : Things transfer
QUITIHET LOMMHMLD
6 6 | A student learns language is related to :
62 ([H LOM6voTeU6dT QLMSen &ML eTeTLIS -

A': Reading

6260 aulgeuLD
B: Writing

aufl eulgaulb

C: Reading, Writing
6269 allgeuld, euflauigeild
D: Reading, Writing and Symbols
660 aulgeuLd, aurflauigeud, GMIui®

7 7 | The curve which shows typical yearly progress towards mature body size :
QUMBLTHST 2L 60 aleTF&FR nHTFFemn SHTLHILD eUemETeUenT :

A : Distance curve
STTLD eUED6TEUED T
B: Velocity curve
GeaUS AUEDETEUE T
C: Timing curve
GBILD CUEDETEED T
D: Total Growth curve
QLTSS QUTTED 61606ToU6M [T
8 8 Support offered to fit the child's current level of performance is the important feature of :
GLBasWler FHELMMSW Q&G HMener QLITHESSIOISMDETET (LNHSH U SIDFIDMGLD :

A : Guided participation

aflaml LUl L unkIGsmL
B: Inter subjectivity
9|&IGQLMHET
C: Scaffolding
LI uIng o5 &ilss6
D: Private speech
Seofllul L CUFE
9 9 | For which age Weschler Intelligence test conduct for children ?
QU566 CFMTHEMETEMW 6THE 6)LIGI LOMTEITE [ 8 @5 & LILLETLIH &S Hisuoresormlenel ojemedlL (Lniqujid ?

A: 7to16
7 (PGS 16
B: 6to12
6 (LPB6L 12
C: 9tol5
9 (PG 6L 15
D: 10to 17
10 G617
10 10 Attention is the concentration of consciousness upon one object rather than another stated by :
HEUETLD 6TeOTLIGI (1 QLITer6om L& SHauerd QFGgams il LDMEMTIH QLIT[H6T 6T L5 &eu6oTh CQF eSS SalSTELD
— eTeoT GMILILNL Leury
A: Dumville
LibefllebGev
B: Ross
@rrmeny

C: Morgon and Gilliand

GLOMF&HET MHMILD Heved b
D: SharmaR.N.

FFLOM RN
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1 11| Piaget found that children are unable to succeed on the three mountains task within the stage.

(WLWDLOMEL CFMHEETUIE GBS HET Qeumm QLM WIGWTS W GTE LIWMCR Famieus :

A: 0-2yrs
0-2eUBLLD
B: 2-7yrs
2 -7 eU@BLLD
C: 7-1lyrs

711 QU@BLLD
D: above 11 yrs
11 B HG CLo6y

12 112 Friendship is formed on the basis of :
BL L @&6riqLiLenLufey 2 (Beum&Hma :

A Caste
sl

B: Religion
I0GLD

C: Socio-economic status

Fenss QUITMETTSTIT Hleney
D: Games
allemeTwimL_(h
13 13 Maturation is a developmental process in a person, that is :

2oL WHFER aaTUS @F eTCRTDHD Bl&Lhe), 948 :

A : accompanied with changes in behaviour alone
BLSNS LMHMSSIL T LWL HILD gHUGLD
B : never manifests different traits time to time
CBISH MG CHILD GeleciGalm BHL GGl QaleflliLim&sIn

C: accompanied with changes in body mind and behaviour

2 L6V, LDGOT LOMMILD L &6M& LMD MK EHL60T 6FHUGILD
D : accompanied with changes in body alone
2 L6V LDMMMESSIL 60T DL (HILD Hem LG LImILD

14 14 | Mediating between id impulses and super ego demands, ego plays a balanced role in making an individual more productive in ones society by moulding
ones attitudes or skills. Which theory emphasis this ?

SeoflILLL 2 606y 2 HSISM& G0 GDLIL L [HITET 6TeRID (LNEMETLIL &G @)L G [BITET 6T60ILD (LNEMETLIL] &FLOMBl6m6V
L& TmH e BHLIK6 06T LILITeTenLo M MILD HMenLD&HE 6T DMIEIILEIMDG S FENGHSH M@ 2,8 5 (LD ETETE6T TH
WIHHRME. @6 aeIMSSID Q&TETeNd WMS ?
A : Psycho - Social theory
2 GT-FENG Q& TETENS
B: Psycho - Sexual theory
26T - LIMT6L Q& TeTemn s
C: Socio - cultural theory
FONG — HOMFFMIE QSHTETenNH
D: Social - learning theory
FONG — HMHMV QGTeTeN S
15 15 When does the smile become a deliberate social signal ?
TLIGLIMSI L|60TEOTen & 2D FELNG S{6mLWIMETLONS TMIG MG ?

A Atthe end of 15 year
Ws6 aIBL oS uiley
B At the end of 2" year
@\ Jeuor LMD eu(BL @mHulley
C: At the end of 3 year
eLOEBTMITLD QUL @) mS U6y
D: At the end of 4™ year
BITEOT& M QUL G miS udlev
16 16 | Which cognitive skill is related with learning to read ?
BDEHEITL 6THS M eYEFTTHMET LI &&HES SHMIG Q&METaUSIL 60T Q& TLTL LW ?
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A : Mental representation
neor QederfliiLim@®
B: Spoken language

Qurienw L& G6

C: Thinking
ABH 5560
D: Imitation
WerLbmeD
17 17" Which among the following Piaget cognitive development stage is associated with adolescent thinks like a scientist searching for the solutions in the
laboratory ?

GGG eTL LIWMC2 MG mei euaTiFS Bleneuuiley 6l Blemevulley GLTLILIBaSH 6T snlailwiev el @heh et &6T
2AUEHSH L HT6 &HTeooTLIenG L1 CLIMeL FHH &R MTISHET 6T60TLISIL 60T QS TLFLIenL WS ?
A : Concrete operational stage
LIGLIQUMIHET Blenev
B : Sensory motor stage
Levenflw g & mlemev
C: Formal operational stage
&HHS 5 LI Bleney
D: Pre-operational stage
QFWANGHES WHLIL L Bleney
18 18 | Kannan enjoy teaching lessons to the street children of the neighbourhood in every evening. What behaviour is seen in kannan ?
& 600T6E00TE0T 6T HCHTMILD LOMem6eV CBT GeuemerTuilel 3 BTN 2 66T Q& BHCEIMTSH GLHNSHEHEHES LITLLD 6T(hSH S
LORDHSTET. @F6V &evoTeuoresi1L D SHTeoor I L L &g WMl ?
A: Self- Control
FW sLGUUT®
B: Self - Respect
W uiflumeng

C: Social Service

Fens CFma
D: Social Awareness
Feps e eoor ey
19 119 | The hormone that controls the functioning of heart and blood pressure is :

@QBWSH T QFWOLTL LU, QTS5 AWHSSMS WD HLOLUUGSSID amTyGLOTeT :

A : Growth hormone
QIETIER am My GLOTedT
B : Pituitary hormone
Wl wl Lifl emmy@Lomest

C: Adrenalin hormone

2|L_ifleoredl6dT @My GLDTedT
D : Thyroxin hormone
ST TEF 6T @M GLOMedT
20120 According to Piaget pre-operational stage of a child is between :

LNwmeuileT ammiliLg &Lobenguller WeTd Q&F WL MES (WHenSW LI[H6ULD 6TeTLIg! :

A: 7-12years
7 — 12 &4,600T(H) & 6T
B: 2-7years
2 — 7 24,6001 () & 6T
C: 0-2years
0 —2 24,600T(H) & 6iT
D: above 12 years
12 94,6001 (D & EH & & GLO6L

21 21 | Criminals who were involved in cyber crime, could have been a good citizen. If type of education was provided.
FUT BenTL60 FHLUL Fnlql GHMeumefl&6T H6V6 GL9L0&6TTE HEDHE S5 SHevel QULPMEIGLILL Q&S
Geusvor(hlLD.

A : Computer education
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Seooflevtl sevall

B: Science education
siflailweh sevall

C: Moral education
R(&S Heval

D: Physical education
2 LM &eval

22 22| Babu has a set of attributes, abilities, attitudes and values that he believes and defines who he is, what is this called ?

LmyelL b &medr WTQyedrm) BLLeuGSMEGLD, 668 G e6US M E&LOITeT @)Ul LIGU0TL|& 6T, §)M60L0&: 6T, LD6OTLILITET6m L& 6T
LMHMID DG LIS EHESTET QEMGLIL] 2_6T6Ngl. @) S! 6T6T6T G 6U6TM 2(6MP&H&LILGGR S ?

A: Self-concept
SHEFTHY
B: Compassion

@T&HSHLD
C: Model

Lr& i
D: Society

Feps LD

23 23 'Which one of the following is not affecting the personal factor of a child ?
GO Q&BTHGHSLIUL G 6eTeTeum M6y GLpbenSuller SeoflBUT &Trenll UTH&EHTHS! :

A : Bodily structure and health
2 L6 9jemliy IDMHMID &H&TSTTID
B: Intelligence
Dieorenorley
C: Emotional development
LDETO (D EDR aleTIER
D: Community and neighbourhood

FeGLD DMHMILD SevoTemL e LT

24 24 | Educational constructivism is also known as constructivism.
Hevall g &&aillwemney 31,5567 W6 6T6T6 LD FoMEVITLD.

A : Psychological
2 arailwey

B: Personal

Seofllul L
C: Social
FeNG
D : Philosophical
558QUMTH5

25 125 | Select the correct pair :
Fflwms QUGB W 6ETaTens CHT6| Q&FUIS :

A : Software Materials —Films, Film Strips, Videos Recorder
QOETQUIMBH6T HILLIaNIEL FTG6hI&H6T — LILSESTGS LI, UL F& 6T, eflgCwim UK ey smed
B : Hardware Materials — Radio, Television, Tape Recorder
QWBH T BILLINUIG FITSHE0THIGET — UTE6TTeN, QS TmEHESTLS, BITLTL LIS 6| s &ma
C: Two dimensional Aids — Picturer, Cartoons, Specimen
@ LlnmeooTs: & (6N &6T — LILH1G6T, G&HeldF FGH T, 2 6orenin LomHifl&er
D: Three dimensional Aids — Compact disc, Models, Sketches
wuuflinmesors &mall&6r — &BhEe0), LTHFIL QUTEHLS&ET, 6U6en T LIL MHhI&H6T
26 26 | Active learning is "Anything that involves students in doing things and thinking about the things they are doing " is said by :
"QFWIG LUMTTSS SisiLial FHWTS HHMib Q&maTagin, ouGLILemmUIe) HHMIG Q& TeTamMGF &8 LOT6UT6 [J8 615 L 63T
LRTHSI, eoor(GHILD WeoT(HLD Q&FWeLITH &6m6TE QWIS &MHMIG Q&ML Hmener aigiaLl LF QF eI Q&F W6y
alfld &MHMeL L&MW" eTaTmeal :
A: Felder and Brent
QUEVLIT & LIgevorL_

B: Bonwell and Eison

SBUITEITQ6U6V & 23T60T
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C: Murnane and Levy
WICT & Qeval
D : Gardner Murphy and P. Smith
&MLy el & P. &0 &
27 27 | Which one of the following statements about learning is correct ?

L9 6tTeu [HeusTeUMMIET &MHMEV GM& S & UITeT Famm :

A : Learning is a passive receptive process
HMHMEL 6T6OTLISI LDBSLOTeT (eMMUNEL & (55 SIS emaT GlLIMIG6
B: Learning does not depend on learners previous knowledge
&HMHME HHCUT6T WhHensW mleneald FMibHSS 316060
C: Learning is equivalent to acquisition of skill
HMHMEV 6TTLISI (5 HMemeTLl QUMIEIS NG FLOLDTETSI
D : Learning is facilitated by social action
HHM6L FeNG BIHLDA|GETTeL UL SSLILIHID
28 28 | Family problem, quarrel between the neighbours negatively influence the child learning is based on the factor :

SOWUL TEF e 6, 2J6uTemL 3 U6VITIHL 6T F6ooTen L F&FFT6y CLIMETMeUMMITEL (6 & LoHem & Ull6T &mmeu
urGliLenLeig LNeTauBLd 6186 6m8 W &Il 160 319 LILIELWLITE S 618 TesoTL Sl ?

A : Personal factor
SeofllILL L &Tiyevor]
B: Mental factor
2 67D FMHS &ITyevorf]
C: Social factor
FENGE G600l
D: Emotional factor
IDETQ6U(DER & &Tiyeuofl

29 29 | Which one of the following is not a three dimensional material ?
Q&MTH&SLULLaumley wLLflnmesor s QUITHET SeVeuTS Sl :

A : Diorama
LGWImILom
B: Flannel Board

LI6ITIT60T6L LIGV6m &>

C: Models
r& iflaer
D: Globe

2 6V5 2_(HEVOTEDIL

30 30 | Teacher gave a challenging task like debate on "impact of global warming" in the classroom to promote higher order thinking skills is :
2 Wy Absenear Hmearsemer CILGSS AT euGLILImMUN6) DITETOTE 8 EH 8 E FaUTEVTET Q& WIETS "L
QauILILWILDTS6VTeL gHLBILD ellemeneseneT" elaumTH&EHE QF TS :

A: Learner centered instruction
SHCUTT emnll LIS S 60
B: Teacher centered instruction
AW emw HHLNGSSH60
C: Curriculum centered instruction
HMOVSTIL L emloll HHLNGS 60
D : Technology centered instruction
QsMl6v HIL LI emlowl &HHLNS S 60

3 3 "BIHUS CHIemE G 6U6wITLIMGS6T" G1&T6UTL HIT6V :

A:
15 60T @ 60T )]
B:
Beveudl
C:
BOIHOSTeNS
D:

QBOBHASE TS
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32 32

CUF&HQ LMW QLD 6TEOTMI Fon IGUIT.
A
Sriw
B:
2 &
C:
BT6L
D:
Qumd
S &1flgmevenfledT @WIHG LW :
A:

@eiterfl aueme 6o

B:
6166 60T
C:
T Te3y megedr
D:
GCVTEHSIMIG GFMLD60T

34|34 aflsveumHmedler FIMHS G6ML QI GUETET6L :

A:

&1f18 mevedr

GG 6T

e

9B wietr

353 S6T HBHRICHTL(HF EMlwmenLoll LIenesoT WD eneus gl el b S 6rfl & & meir 616 QF WIS em W& Familh BT :

A

GOHASTNS
B:

A&BHTDTN
C:

LMmBrearml
D:

15D 09l 6t 6507

36|36 A0S BB — QUWITSHSTT60TLD QUMM :

A:
FAMWSTE @BLILISTE
allenauns LMbS CF6vealsmey

T 1960 0 &L (HleusTev

G LeTm LIMLILIGTEL
37 (37 L . - . .
FLOWS F53I6UEIGMET aeUTH &G &(HES HT6 :
A:
GgeumyLd

BuCHF
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Quiflwymesorin

EmmLiLymesorid

38 38 'Orthography' — SLALA60 QLIMTH6T & :

A
GTaILDL| &6 LM LI & G Simlefluisy
B:
6T H 6V &G 600TLD LIMH NI WIS
C:
BleooT&H S TS 6T Linmlwigl
D:

2600fl @688 600TLD LIMH NI WIS

¥ g QBT TGN (WS W FTRSH W &TOSWA all(Bg QUDM BT 6TH! ?

A:
CHMUILTSSI LDE 86T
B:
G&MTLIGVEY B IO
C:
LwedBev (b G5 mevuf]
D:
FEHEFMTLD
0|40 "LIL G LO6BOTLLILD eFHnflement, eFHmlemenr; 6Tl 1q Geor () @) Tesor(hih MIGWIemeoTGUI" 6T6dT 6ufl& 6T @)L LD QUMM BiT6U :
A:
S5 DL ITLOIT U600 LD
B:
FeILGH &TTLD
C:
G (HUTF&LD
D:
HeumwQmd
41 41

"Q&F DITS|60ILN" 6T60T LG 60T GLIT(H6IT :

A
QEUMIGHHTEDLD
B:
LOM6UMEmLO
C:
QUITMIEOILD
D:
2_GeUTenL0

L SHHEIMS Q&TETL GFMPLITSH 6T CoHmallev elllnmersH 60 2 6T6T 860601607 QU QLD :

A:
FSITLD
B:
QF6ueas LD
C:
9|6MJ UL L LD
D:

QL L ellgaild

43 a3 , . .
2|6TQ LI L 6T60TLIH) 60T G LIM(BET :

A
GODHE 2605560
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B g6l 60

AL G eI 69556

QU 458 @556
“M ene LI &6 6T &j1g6mwl BiTeE QSTHID CUNE LIMEGLD (WSS :

A:

o1
45| 3181 + @TCME — @ FQFTHEHEMTE CFIGESI 61(W&EHE RemL LILIg
A:

21518\ 60TGmey

231 6TEM6L

215160 6TGM6L

21516U60TGMEL

“ Bfls@ssBar a@flwi

A:

1H6VEVITSS EOT T

SILDELOGUEDTITT

LS CFHSHETTT

Heoof| Qg mellwimy

T (WeoTeolemeVL] QLILITESEB6IT LIGTeMLOLT QLILIT S{6VeVTS S 6T&I ?

A:
i eT
By
By

B

48 |8 F(®.69.5. o MILD 'GUINHENS G)60TLI QUITLHEY [Bl6MEV LTI ET 6T60Td &L L LI QLIMILIENE :

A:
USSILUTL®

560505 Tans

FLILGSTLD, 0600l GLO & 6060

Quiflwyymesorin

A QeI B CLITSH 6V — 6T6dTEBIN QLIMHEM6NS &M @& Q&FMme :

A:
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50 50

51 51

52 52

53 53

54 54

55 55

@\ emerr
B:

@66y
C:

Qe
D:

&6V

BeTQ 6T B HT6O6L 2 6TeT QULOMG S LITL 6V 6T

A:
42

40

64

68
2 Uy TS G LeTelQTeor(HILD, 6Temg @)L LTS Q& Teoor(h LIm&HeTma ?

A
aly g (W1

&G

HWES

eumul

'SICWMSHSTEFT 'HImeilL D& TR FhIGLID' 6TETID SiemnLienLig CHTHMIaN G5 60T :

1885

1857

1892

1890
2 WNFQLW TWHH L QGTLMEIGLD QF TV &G (LO60T GTETEILD QFMEVE 6L LW LI(H S S Ceuetor()LD.

A

38

'2_LILIMGO0TL6ULD' 6T6OTMD HI6M6V 6T WI6UT

A:

QWGBTS 60T

LNymesr&env S @®uUm

QQUIGITHS 6T

616NV, @) T TLO ) (1H 619 600T 60T

2G5 FTEDI6V 6T6OTLISI
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A:
2600118606078 @BLD G LIMMH & MTEH&HEHLD 2_(HEUTEGLD @)L LD
B:
BEUTSHGTRIGET LILenL & G (HILD §L b
C:
GUMTS &HIGET 2 (HeuMsHELD @L LD
D:
Smeoflwilh el MLIemeT Q&FUIW D @)L LD
638 g e ® B&HN & CFFHS6T.
A:
QUEHH BT
B:
Q&MMHENS BT
C:
UMY &I
D:
LDEIENT BT
ST 'F1b 2 uNFEUITeL eTeua|UI(BLD & T EOTEITI & 600TL (T
Q&FEMLOWI(HEHG J6U6V6T6TMI G & UIG6U60T'
— 6T60T @) 6mMEU60TL LD C6UEToTIq IR :
A:
QUETETELITIT
B:
STWLOTETEU [T
C:
UL 1G0T ST
D:

Smsor& il BrsF

8|58 FISH eI effSHaih 2 6@ @) 606007 Q& MeV6V WMHETT(H)? WTH WML LD Samluig ?

A:
6R6MECULITIT — QG TEUOT6M L_LOTE0T
B:
SREMEN QU — ) WILDT60T
C:
RETEGUWIT — LIf]
D:

gemenalllTy — eucvailey g

% ® S7600l] — @) F QFMELEIL 6T QUIMTBHS TSI

A:

2 &L
B:

meUWILD
C:

©BTeuLD
D:

usp

60 |60 . . . .
o6rnel6m 60T LILIGT G LIMBET :

A:

(W etTedlemenT L LI et
B:

QFUIS Q& uwledledr Liwiedr
C:

sSmiflwl Liwesr
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SITI600T LI LIUI60T

61 61 Fill in the blank with the correct word.

A day without is a day wasted.
A laugh

B: laughter

C: laughing

D: laughed

62 62 Name the figure of speech that is employed in the line.
"Having a friend is like planting a flower."

A Metaphor

B: Simile

C: Personification

D: Anaphora

63 63
Fill up the following with suitable conjunctions :
{i) The box was heavy __[i)  he could not lift it.
(ii) Eat slowly __{ii]  you will get choked.
{iii) Velu thanked his friend __iii]  he helped Velu in time.
{iv) It rained heavily _ (iv] the match continued.

A: (i) or (ii) because (iii) but (iv) so

B: (i) so (ii) or (iii) because (iv) but

C: (i) because (ii) but (iii) so (iv) or

D: (i) but (ii) so (iii) or (iv) because

64 64 Who is the author of the popular children's thriller, "The mystery of the cyber friend 2"

A : Ruskin Bond

B: Zac O'yeah

C: Anna Sewell

D: Daniel Ho

65 65 Re arrange in a meaningful cogent order :
(I) He made a tent and lived in it.
(II) He explored the Island.
(IIT) He took some food, guns, clothing and tools in it.
(IV) He found the broken ship.

A (IV), (ID), (D), (I1T)
B: (ID), (1V), (D), (1)
C: (1), (D, av), (@

D: (I, 1), (1), AV)
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66 66 | How many syllable in the word 'adventure' ?

A: 3
B: 2
C: 4
D: 5

67 67 | The autobiography of Sachin Tendulkar is

A Wings of Fire

B: The Adventures of Tom Sawyer

C: Playing it my way

D: Discovery of India

68 68  "Thank you" is an example of

A: Subject

B: Designation

C: Salutation

D : Complimentary close

69 69 | Which combination of parts of speech gives birth to this compound word 'rainbow' ?

A: verb + noun
B: noun + adjective
C: noun + noun
D: verb + gerund
70 70 | "Patachitra’ art of story telling using painted scrolls is established in :
A: Naya
B: Mysore
C: Hyderabad

D: Tanjavur

71 71| A Cinquain poem should have lines and words.
A: 4,8
B: 3,9
C: 5,11
D: 4,11

72 72
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74 |74
75 |75
76 |76
7 77

Find out the synonym of the word "meagre".

A:

B:

C:

D:

enormous

paltry

huge

immense

Find the relation to find the missing word.
Bread : Bakery, Brick : ?

A:

Stick

Kiln

Furnace

: Ball

Find the correct abbreviation for EMIS.

A:

B:

C:

D:

Education Management Information System

Educational Managing Informative System

Educative Management Information System

Educate Managing Information System

Which is the one that does not belong to the group ?

A:

B:

C:

D:

Cricket

Hockey

Football

Chess

Which alphabet is a part of our body ?

A:

C

One gives personal details in a written form for an appointment.

A:

Letter

Narration

Resume

: Essay

GET IT ON
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78 78 | Find out the odd one out.
A: Biography
B: Autobiography
C: Bibliography
D: Travelogue
79 79 | Syllabify the word 'imagination'.
A: i-ma-gi-na-tion
B: ima-gi-na-tion
C: i-magi-na-tion
D: im - agi- na - tion
30 80 | Choose the word with same meaning for "not feeling comfort".
A discomfort
B: depressed
C: disgrace

D: disdain

81 81

Flag day is observed on the

A 7t December

B: gth December

C: 9th December

D: 10t December

82 82 The boy speaks loudly - What kind of adverb is underlined ?

A: Adverb of place

B: Adverb of time

C: Adverb of manner

D: Adverb of frequency

83 83

Match the following :

{a) Homonyms (i) is a shorfened form of a phrase

{b) Homophone (i) a word that reads the same backwards as
forwards

{c]  Acronyms (i}  words with same pronunciation but different
meanings, origin or spelling

(d) Palindrom (iv]  fwo or more words having the same spelling
and pronunciation but different meanings and
origin

Az (@)-(v), (b)~(iii), (0)-(0), (d)-(ii)
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B (a)-(iid), (b)-(ii), (c)-(iv), (d)-(i)

C: (@)-~(iv), (b)-(iid), (c)-(ii), (d)-(i)

D (a)-(ii), (b)-(1), (c)-(iv), (d)-(iii)

34 84 | Anbu was talented in Catching fish.
In this sentence the underlined word is used as

A: Adverb

B: Adjective

C: Participle

D: Gerund

85 85 Find out the simple sentence.

A : He must work hard to win the first Prize

B: The evil that men do lives after them

C: Give me the book and T will read it

D: You must hurry or you will miss the train

36 86 | Take the odd one out.

A Pilot
B: Cockpit
C: Deck
D: Black box

87 87 | Fill in the blanks with appropriate form of the verbs from the options.
If 1 had seen him .

A Twill tell you
B: Iwould tell you
C: I'would have told you

D: Iwill have told you

38 88 | Indra came this morning.
A early
B: earliest

C: more early

D: earlier

89 89 Calf is a young one of Elephant and Cow.
Now pick the young one of a swan.
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A : Cygnet
B: Fawn
C: Chick
D: Foal

90 190 | pick out the correct NOUN + VERB' compound word from the given compound words.

A: Earthworm

B: Bloodthirsty

C: Homework

D: International

91 91 | A wire is in the shape of a rectangle of length 28 cm and breadth 20 cm is bent to form a square. What will be the side of the square ?
28 Q&.15 BemoLd 20 QF LS. S&HEVINLD Q& TEOTL. Q&F6IaIS aIlgel SIDLIWTETS alemaTd:a LU B FSIT allgeley
WIHOULGRMS! 6Teoflev, FSITHS 60T LiId:8 3 6m6el6n6oTs & M60ords.

A: 12cm
12 Q&8
B: 24cm
24 QF.18
C: 36cm
36 Q&L
D: 48cm
48 QF.L5
PP stxatxst simplify 2
39x371x372
3%x373 %3  ——
3¥x371x372
A: 35
35
B: 35
35
C: 310
310
D: 3
3

93 93 | An office works from morning 10.30 am to evening 6.45 pm. What is the working hours of the office ?
2(H VUGN HMTEm6V 10.30 (LLGH6V DTV 6.45 66T QFWLIOHMS! 6T6ufl60 21G 6T Gauemev GHILD

A: 480 min
480 Bl
B: 495 min
495 B
C: 460 min
460 Bl
D: 500 min
500 ml

94 94 | A land is in the shape of a rhombus. The perimeter of the land is 160 m and one of the diagonal is 48 m. Find the area of the land.

62 (I [BleVLDMEOTS! FITUI FIT 66060 2_6Temal. [BleVEH 60T &MHMmeTe] 160 LS LOMMID 3G 60T (6 eLnem 6y 6l L SF) 60T 216y 48
1S eTenfl6b S11B G BleLS S 60T LITLILIGTEN6US &IT600TS.

At 1720 m?
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1720 L5?
B: 1843 m?
1843 L2
C: 1536m?
1536 LS?
D: 1436 m?
1436 LS?
Study of devices that are measuring the time is called
HTVHMS 6THGLD HIQ&TIHIG6TL LW L iNbHe& 6TEOTM QLI
A: Horology
ammymevgdl
B: Solar year
&flw au@mLLD
C: Lunar year
FHHT QUBLLD
D: Solar month
&flw LoMsLD

Find the sum of the first 20 natural numbers.
(WDS6V 20 G)UI6V 6T600TS 6Tl 60T Fon (DG 6V WIS ?

A 200
200
B: 400
400
C: 210
210
D: 180
180

A road was leveled by using cylinderical Road leveller, its height is 3 m, and curved surface area is 26.4 sq.cm. use the road leveller by 8 times - how much
area levelled ?

6 2_([(HEDET GULLEU(LNETET LIMTen S FLOETUMHSSID SHellenws Q& Teor(® LIMens FarUBGSSLILGR M. &6 2 WTD
3 18 9IHET HMHMETE] 26.4 &F. Q& .1 eTevfl6v 8 & MHMiGerlev eTelaleTe] LITLIML FL06TLI(HISS (LOIQULD ?

At 4112 m?
411.2 152
B: 7121 m?
712.1 u§?
C: 4121 m?
4121 uS?
D: 2112m?
211.2 152

The smallest square number which is exactly divisible by 2, 3, 4, 9, 6, 18, 36 and 60 is :
2,3,4,9,6,18,36 LDMHMILD 60 LG W eTevor&emmey LG UN6T)l eu@GUGID W&F Fpflw (LD eUTd: 8 6T600T ©

A: 900
900
B: 1600
1600
C: 3600
3600
D: 400
400
The value of 3\]1 9683 =
419683 eir gy =
A: 33

33
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100

101

102

103

104

B: 34
34
C: 35
35
D: 36
36

100/ The number of days between Independence day and Teacher's day is :
FSHHT DTsH DG BAFWT HrsHHESLD @ enL G 2 6T BITLg6rf16T 6TevoTeu0t1 8608 :

A: 20
20
B: 30
30
C: 40
40
D: 50
50
101 Find the value of x in the following sequence.
1,7,25,x, 121
Q&HMTO&SLILLL 6r6vor euflenaulleb x 6T LOF\LIenLIS: & T6uoTS.
1,7,25,x, 121
A: 64
64
B: 6l
61
C: 49
49
D: 63
63
102

What are the possible positive integers 'a' and 'b' such that ab=1b29
aP = b? GTEULDMMI S6MLOU|LD a, b 6T60TM LAN6ME (LD (LD E S 6T 6T60T6OT ?

A: 0,1
0,1
B: 1,2
1,2
C: 2,4
2,4
D: 2,3
2,3
103/ The next term of the pattern 1, 2, 5, 6, 14, 24, 30, 120, .. . ...
1,2,5,6,14,24,30,120 ............. 6T6OT 6T600T et L 1L 60T 2| (H\& G 6T600T :

A: 91
91
B: 55
55
C: 720
720
D: 72
72

104

If - i and 2q + p = 40. Find the value of (pg)2=2

20

2
=+
p

+ % . Gguitb 2g + p = 40 eTesfléb (pq)? 66T WHIIY Smevors

1
q
i
i 2
@@p

>
'
f=}

w
S
=3
S

GET IT ON
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C: 1600
1600
D: 160
160
e Ascendin orc:k—:trc:offhefr(:!cﬁconsi i 1c1re
. 7' 8012
i. i iabaﬂu_l strestrugserfleim rmieuflens
17 80 12
Ai 3 97
80 1712
& 2 7
&’ 17" 12
B. 7 93
12" 17" 80
L
12" 17" 80
C: 3 7. 3
8" 12° 17
A . 3
80" 12° 17
D: 2 P8
17" 12" 80
2 T8
17" 12" 80
106 106 3 4 15
The generalization of the pattern 0, T g is:
0, % % ? ... 6T6STI SEnILET GILIME] sulgeulD :
A 205
n+3
i —1
n+3
B: n—1
n+1
n—1
n+1
C: n? 4
nE3
N+ 1
N3
D: n2 1
n+ 2
n? -1
n+ 2

107 107 Find the range of the following data given below.
35,32, 30,37, 31, 38,37, 25,29, 32

GO Q&BTHHSLILL BT eN6UT kIS EhE: &, 6558 &Tews.
35,32, 30, 37, 31, 38, 37, 25, 29, 32
A: 38
38
B: 25
25

108 108
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How many ftiangles are in the following figure 2

SleiTeL(HID LILGHE160 6T G emesT (LP&EHITErTRIGET 2 6iTemg) ?

A: 16
16
B: 12
12
C: 14
14
D: 10
10

109 1109 The encryption form of 'BEAUTIFULL' is'EAEQYELQSH!' then the encryption form of'MATHEMATICS' is :
BEAUTIFULL 6767 61T &en&ufeir nenmm@&mui® EAEQYELQSH 6r6ofl6b MATHEMATICS 6T60T LIS 60T L0 &MU :

A: PWXDIJIGPPAY
PWXDIJIGPPAY
B: PWDXIIGPPYA
PWDXIJIGPPYA

C: PWXDIJPGPYA

PWXDIJPGPYA
D: PWXDIJIGPPYA
PWXDIJIGPPYA
110 /110 What is the next number of the sequence
0,2,6,12, .
0,2,6,12, ettt QSTLT auiflensuletr oBH\SS 6T6v0r WIMS! ?
A: 30
30
B: 20
20
C: 22
22
D: 25
25

T Rind the remainder when x* + 10x3 + 35x2 + 50x + 29 is divided by (x + 4) :

x4 +10x3 +35x2+ 50x +29 83 (x + 4) 6V QUGS 5S RO GHGLD LS IS &Te00Ts :

A: 4
4
B: 5
5
C: 6
6
D: 11

11

1121127 A mat of length 100 m is made by 10 men in 16 days. How long will it take for 50 men to make a mat of length 250 m ?
100 1S BampeiTem e LIMUement 10 24600786 16 BITL&6rfleb Q&I 6TT. 250 LS Bememem LIMuiement 50 Su,600T8 6T Q& Wil
618G 6060T [HITL_GH6T L&D ?

A: 14
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113 113

3 _ 3
The value of G A

2732 + 373 % 273 + 2732

373% —273°
3732 +373 % 273 + 2732

STEETLIG 60T LI LIL] :

A: 100
100
B: 300
300
C: 500
500
D: 600
600

1414 gualuate 173 - 213 + 43,

173213 + 4% 667 DBIL :

A: —4284
—4284
B: 4284
4284
C: —-126
- 126
D: 126
126
115 115 The radius of the spherical balloon increases from 20 cm to 24 c¢m as air being pumped into it. The ratio of the surface area of the balloons is :

62(H CSHITET GULY 6 616N & G0 600TIY IET HTHMI 2 HFLILIGLD LTS S1G60T SLTLD 20 QF .15 -6 BH S 24 Q&F.15 2,5
2 WHHMS!. @ LUmiugliLseflear alSsLb :

A: 9:16
9:16
B: 25:36
25:36
C: 20:24
20:24
D: 81:256
81:256

116 /116  [f the area of the rhombus is 120 sq. cm and one of the diagonals is 16 cm, find the length of the other diagonal.
R FTLFSTSH 6T LIFLIL 120 &.Q&.15 nHmILD eumiler e enemevelll L& H 6T Harid 16 Q& LS eTesf160 LDHAMT(IH

epemeveill L G &etr [Berih :
A: 120cm
120 Q&1
B: 15cm
15 Q&8
C: l6cm
16 QF.L5
D: 20cm
20 QF.LS8

117117 [f a company pays 6 lakhs for 15 workers for 20 days, how much would it need to pay for 5 workers for 10 days ?
62([H 5] MIGUEITLOTETSI 20 BT HEH&HE 15 CauemeVITL &HEH5E 6 VL&D QST & 60U 2eTHILNITE 6ULPMEIGH M S 6Tevf6v,
2B MIUETSEH NS 5 CaUemeUWITETE @& S 10 TG EH5HE 26rH LTS aULNKEISLILGILD Q& Tenss :

A: 2 lakhs
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2 QUL &hIG6T

B: 3 lakhs
3 UL EFMmIGET

C: 4lakhs
4 UL FMmIGET

D: 1lakh
1 &l

18 118 A particular observation which occurs maximum number of times in a given data is called its :

20 STl P& WM @L LD QubHMI6TET 2 mILILeT LGILIL]

A: Frequency
16185 LD G\ 61 60T
B: Range
efga
C: Mode
wsh
D: Median
@)MLBleme 2466
119 1197 At 3.30 pm the angle between the hour hand and the minute hand is :
LDMedI6V 3.30 SyameNlev, Leuofl (WeTeMm@GLD, B weterflh &b @6 LGl 2_aiTer @& mevorLD :

A greater than 0° and less than 90°

0° g el 9IF &1 nHmID 90° 8 il Gemme]
B greater than 90° and less than 180°

90° &3 I SIS & LD LMHMILh 180° & L Gemmey
C: greater than 180° and less than 270°

180° &3 il 9IS 51D DMHMILD 270° &3 el Gemmey
D greater than 300° and less than 360°

300° &3 el 2FH &0 LHMILD 360° & il Gemmey

120 1120 The number of two digit numbers that can be formed by using the digits 1, 3 and 5 with repetition of digits are allowed is :
1,3 MHMOILD 5 B G)ev&&HBEIGM6T H(HLOL QUGBTI LWeTUGRSS 2 (HaumsasLiU@n @TLenL §)6u8s 6Tevorsserfler

6T600T6U0 18561 &
A: 9
9
B: 6
6
C: 3
3
D: 1

121 1121 pick out the correct pair :
Fiflwmer @enerenl CHIHOSH\&HSHALD :
A : Kumarakom bird sanctuary - Tamil Nadu
GG LMenal &FIeurmeullid — LS pHITH
B : Bharatpur bird sanctuary - Andhra Pradesh
LITSLLT LIMeme &Fetormeuliid — syb&H Il LNyCs &I
C: Mayani bird sanctuary - Maharastra
L Wwimesf] LIMesI6U & [F600T MeULILD — LOQMITIF 6L [T T
D : Koonthankulam bird sanctuary - Kerala
T [5G 60T G6TLD LIMEEU FJ6oT TeuWILD — G&HIJ6TT
122 122

Assertion (A) : Rajaji was arrested for breaking the salt law.
Reason (R) : 12 volunteers under the leadership of Rajaji by breaking the salt law picked up salt.

FaDml: 2 LG FLLSMS HWSDH&HTES @rmenedl endg Q& WL LT,
STyeuorid : @meamesluler Sanevennuiley 12 Qg MeurLJ&6T 2 UL g &L G W 2 LlenL yemerfleri.

A: (A)is correct (R) is correct Reason
Famm &ifl, &ryesorid Fifluimer eNemgasLn.
B: (A)is correct (R) is wrong
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Fammi &Fifl, Hryesorid Fifluimeor 6lemdaL06v60.
C: (A)and (R) are wrong

Fo MM LOMHMILD SITFE0OTLD &6UmI.
D: (A)is wrong (R) is correct

Fa DM Saumi, STyeorid &ifl.

123 1123/ Choose the correct answer :
National Jute board is headquarter at .

Frflwmer eflemLenwis CHIHESH &S| :

CHHW Fevorev euMfIS S 60T H60)6V6MWIGHLD 6V SIEMLDHSIETETSI.
A : Odisha
R &M
B: Kolkata
QEHMVSHSHST
C: Mumbai
(WLhemu
D: Gujarat
GRAl:

1241124 Which of the following statements is not true ?
GECLD QEHTHHSHLILL B 6TET FnMmiG6rfle) 615 2 60oTenLoWI V6V ?

A : Keezhadi is located near silaimaan East of Madurai
&I TUIeSBHS HLP&EE 6L Fle6euLDTET 6T6TM 26T(H 5 E BH 6 BLoly 2 6TeTgl.
B: Excavation throws light on brick buildings, drainage, Tamil- Brahmi Inscription
915LML6|&6rfler epeuld QFBIGM &G LmermhigerT, HfleyBr euldger wmmih s LFmd erWws S8 56T
Heuor(BILI9. &8 LILL (B 6iTereor.
C: The Excavation at Keezhadi dates back to Sangam Age
2|&LPMIIR| G660 epeulh BLPLY, FhIS STVSH MG (NHMS WIS
D : Sulphur Rods were also Excavated

FoUT &HDLNGERID 2smiiaalle seaor® L1119 868 U1LL (HeTers.

125 125

Match List-l with List-ll and select the comrect answer by using the codes given

below :
List-1 List-I

(a) Art. 16 (i) Protection of life and personal liberty

(b} Art, 21 (ii) Protection of language, script and culfure of
minorities

(e) Art, 26 (iii) Equality of opportunity in matters of public
employment

(d) Art. 27 (iv) Freedom from payment of taxes for promotion of any
religion

)] Art. 29 (v) Freedom to manage religious affairs

SLpsaeiTL Ul g wisusensT GlUMmES sflumseumhenn Smefrs :

uliguisy-| Ll tguieh - I

(@) Aiflsy 16 i) SUMD&HENS WHMID Sesfllul L &FhSTESmEL
urgsriy Glumib 2 flenwn

(b)  Nfley 21 (i) Amiumssreniouilsoriflsot st (pdaE1, Glomidl
WHMILD HEVTFFTTL LITGISTLIL]

(c) Nifley 26 (i)  Gurs GsusmsveumiiliLEeflsy Fio
sumliuerflg g60

(d)  flsy 27 [iv)  erh&sGleum(m WHSHEMSHILLD UFLILUSDHETS

sulfl QFansgisugmtlaglTreaT &EhHEIrD

(e) Wlifley 29 v) FoWw slleusmrmisenst HiTsufls G o flenn

Az (@)-(iid), (b)-(1D), (0)-(iv), (d)-(v), (e)-(i)
(@)-(iii), (b)-(1), (¢)-(1v), ()-(v), (e)-(ii)
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B: (a)-(iii), (b)-(i), (¢)-(v), (d)-(iv), (e)~(ii)

(a)-(iii), (b)-(D), (c)-(v), (d)-(iv), (e)-(ii)
C: (a)-(D), (b)-(ib), (¢)-(iv), (d)-(v), (e)~(iii)

(@)-(1), (b)(ii), (c)-(iv), (d)-(v), (e)-(iii)
D (a)-(i), (b)-(iii), (c)-(iv), (d)-(i), (€)-(v)

(a)-(ii), (b)-(iii), (¢)-(iv), (d)-(i), ()-(v)

126 126
Match A" with 'B' :
A B
(a)  Executive Powers 0] Article 53 (2)
(b} Cabinet Ministers (i) Appointing the Prime MMinister
(c]  Military Powers (i) Aricle 72
(d}  Judicial Powers {iv)  Body of Senior Minister
) Prime Minister
QUTHEHSIS ;
A B
(@) mlfeurs siE&mrn i) gL dley 53 (2)
b}  &srllQar’ syenndagser () Vs semngsany Bludlg s
(c) @orame sEsmyh (i)  Flrurley 72
d} BB yS&Emyin (V)  @nseiTemn Syemingarasetledr gemnliL]
v) Ulgswn syemngar

A (a)-(v), (b)-(id), (c)-(iii), (d)-(iv)

(a)-(v), (b)-(ii), (¢)-(iii), (d)-(iv)
B: (a)-(id), (b)~(iv), (o)-(iid), (d)-(v)

(a)-(i), (b)-(iv), (0)~(ii), (d)-(v)
C: (a)-(iv), (b)-(id), (c)-(1), (d)-(iii)

(a)-(iv), (b)-(ii), (¢)-(1), (d)-(iii)
D (a)-(iii), (b)-(v), (¢)-(1), (d)~(ii)

(a)-(iii), (b)-(v), (¢)-(1), (d)~(ii)

127 127

Match column 'A" with column ‘B’ :

A B
(a) Golden Revolution (i) Qil seed Production

(b) Silver Revolution (ii) Meat Production

(c) Red Revolution (iii) Leather/Cocoa Products
(d) Brown Revolution {iv) Egg/Poultry Production
(2] Yellow Revolution (v) Fruits/Honey Production

seulb (A) 29 &euid (B) Gwn(h) Clumms sl

A B
(@)  Gumsir & i) sTeBoT Gl 6wt 6 .51 5 SH6TT
(b)  Geusirerfls Yy el i)  Qeopsd e pusd

(c]  Sesuligls yyldl (il Czmey, CarGsr 2 muss
(d) weuylyrig (iv)  polemL whmib Camdlssr
(e] e Lyl v upmiser | Gger 2 HUSS]

A (@)-(D), (b)-(iD), (¢)-(iid), (d)-(iv), (e)-(v)
(@)-(D), (b)-(iD), (¢)-(iid), (d)-(iv), (e)-(v)
B (@)-(iii), (b)-(iD), (¢c)-(iv), (d)-(v), (e)-(D)
(@)-(iii), (b)-(ii), (¢c)-(iv), (d)-(v), (e)-(D)
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C: @-(v), (b)-(v), (¢)-(id), (d)-(iii), (e)-(D)
(@)-(iv), (b)-(v), (¢)-(id), (d)-(iid), (e)-()
D (@)-(v), (b)-(iv), (c)(ii), (d)-(iid), (e)-(i)
(@)-(v), (b)-(iv), (¢)-(i), (d)-(ii), (e)-(D)
128 128 Which Article mentioned the duties of the Prime Minister ?
SR WevenwlIer erbg sl Ll Uifley Wrsw gewssflar sLamwnsamer GUULNGSmS ?

A Article - 70
FLLU ey - 70
B: Article-75
FlLUd ey -75
C: Article - 72
FLLU ey - 72
D: Article - 78
FLLU ey -78
129 1129 The beautiful beach which is active in day and night is :
@ oYL LISILD QFUIIL 60T 2_6T6IT JL0ST60T SL MDD :

A : Elliot beach
eTeOlWI &L_M&eny
B: Silver beach
Fevall HLHSHT
C: Marina beach
Qe &L
D: Kovalam beach
G&HMEUETLD &L M6
130130’ Choose the symbol of Battery :
10675 LS H 60T GMIUT LG CHTHASH EHALD :

A:
il
il
B: I, L
+H =
=
C: S
Open
i
Sy
D:

131 131 [sobilateral leaf present in :
@ BLSS R(BHEIGIDHS G606 &meuorILIG S :

A : Mangifera indica
IDTEHRQUITIT &) 600TI9.85 T
B: Oryza sativa
QRETEFT FLEOLEUT
C: Vigna mungo
allderm HIGSHT
D: Azadirachta indica
SIFMIQLTE LT &) 600TIq.ET
132 1132 Transfer of pollen from the anther of a flower to the stigma of another plant of the same species :

RO STUTSH 6T a6 2 66T &THS 6T 968 QaTHMmS CFIHES GO STAITSS T G emU
QFTMENL6USI :

A : Pollination

D&HTHS CFI&HME
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133

134

135

136

B: Cross pollination
I W6V L&ETHS CFFHNSH
C: Self pollination
60T DETHS CFIHNS
D: Xeno pollination
CaumIUL L L0&THS CFIH 5
133 Carpels are found in part of the flower.
euiflett eTILIGH 6L @69 6m6085 6T &5 mevor LI LI(H &) 6T meor 2

A: Anther
ID&THS 6L
B: Ovule
&6V
C: Ovary
SmenL
D: Antheridium
BB gD

134/ The skull includes .
LDEOOTEML L1460 2_6IT6ITL RIS W eTeLDL|&H6T
A : Hyoid bone, auditory ossicles
amwImii@® erawldL], QFeld FHOMEYIDL|&HeT
B: Cranial bones, facial bones, hyoid bone and auditory ossicles
LD6TOTEmL 2L (5 eTOILDLIGHET, (NG eTeILDLI&HET, amWITUI(G eTaullbL] MM QFeld AHEMmaILDL] ST
C: Cranial bones, facial bones
Lo6voTenIL 6L () 6TEVILDL| &6, (NG5 6TAVILDL| & 6T
D: Only facial bone
(P& TILDL|G6T oL (HILD
135 After fertilization which part of the flower become seed :
&(HeY 05N &G LN6T eVl THSL LGS allens g 2 Heum@Ld ?

A: Ovule
&6
B: Integuments
S
C: Ovary
G6VenLI
D: Seed Coat
aflenguemm
136
Match the cell structure with their functions :
[a) Mitecheondria i) Producers of food
b} Chloroplast (if) Seperation of chromosomes
{c) Cenfricle (i} Synthesis of protein
(d) Endeplasmic reticulum fiv) Producers of energy

2 MIUIL|&S(EHLEIT SiSH6T LissflaensT Glummeas :

(a) smiol GLmamegerifluim (i) 2 sotTe 2 DHLIGS]

(b) LIS RIS 6011 & LD (i) HCrrCrGsmbssnsT
Lifl& &g

() GlEsTlflGwimsd (i) yrs CrysHens

(d)  stesr@LmSlemma susmevLfsiTesten (Iv) @y bmev 2 HLgHE

Az (@), (b)~(id). (©)-(0), (d)-(iii)
(@)-(iv), (b)-(iD), (¢)-(1), (d)-(iii)
B (a)-(), (b)-(ii), (c)-(iv), (d)-(iii)
(@)-(D), (b)-(i1), (¢)-(iv), (d)-(iii)

GET IT ON

Google Play
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C: (a)-(iii), (b)-(iv), (0)-(ii), (d)-(i)
(a)-(iii), (b)-(iv), (c)-(ib), (d)-(i)
D (@)(iv), (b)-(), (¢)-(ii), (d)-(iii)
(@)~(iv), (b)-(0), (c)-(ii), (d)-(iii)
137 1137 ' Which of the following parts of human brain controls respiration ?
(i) Thalamus
(ii) Cerebellum
(iii) Pons
(iv) Medulla oblongata
Choose the correct answer from the options below :
1060T1 & eLpemerul6dT LI6dTelBLD LIS IS EB6T 6TLILIGH SalmFSH et &L HLILBOSSIRMS! 2
(i) B6VLITLDGV
(il) B\ mieLpemerr
(iii) LIT6dT6N)
(iv) (P&6TLD
&G 2 dTemeumniledBHal Fflwmer LHemevs CHIT6e] Q&F IS

A (i) and (ii)
(i) LOMHILD (i)
B: (ii) and (iii)
(i) LOMOILD (iii)
C: (ii) and (iv)
(i) LDOHMILD (iv)
D: (iii) and (iv)
(i) LDMHMYILD (iv)
138 138 Find out the wrong pair :
SEUMITE ©)60)600TEMLI &600TL M8 :

A : Upper arm - Humerus
GLO6L & — O LDTEN
B: Wrist - Phalanges
10600118 &L () — &LIGVTEH&F 6

C: Fore arm - Radius and ulna

(LPEIT 68 — GIIG.WEN LMHMILD 2 6V60TIT
D : Palm - Meta carpels
2 GTEMMRIEN — GIOLLIT SITFLILI6V
139 1139 Find the reactivity of oxygen with metal in increasing order.
Au, Ag, K, Mg, Ca, Pt

LI6LGauMI 2 B6VITE:EIS EBL 60T 28 e eofl6or aflemer® mensor gFmi auiflen &Fuflev & mevoras -
Au, Ag, K, Mg, Ca, Pt

A: Au,Pt, Ag, Ca, Mg, K
Au, Pt, Ag, Ca, Mg, K
B: Pt, Au, Ag, Ca, Mg, K
Pt, Au, Ag, Ca, Mg, K
C: Pt, Au, Ca, Ag, K, Mg
Pt, Au, Ca, Ag, K, Mg
D: Pt Mg, Ag, K, Ca, Au
Pt, Mg, Ag, K, Ca, Au
140 140 The commission for the purpose of control and supervision of experiments on animals :
efleumIG &6 LG Teor GFMBHemetTenil SLBILIBISHSIS6 MDD GHUMTeN6e QF WD G :

A : Blue cross
Ljeets &y meny

B: CPCSEA
CPCSEA

C: Red data
Feuliy srey

D: MoEFCC
MoEFCC

141 14

In which country having the vision of space Research is, "Harnes space technology for National Development while pursuing space Science research and
Planetary Exploration" ?

"eleor @ euerfl oinflaflwey <L ImUES HmID s 9,6 epeulb CHFW eueTTEFF &HaMS el amaeauef] Qs mifley
BILUSSL LWaTUB SSIH6" 6T6dTLISI 6ThS BTL 19607 6eilevorQeuerfl 2,7 MUESR CBHMEHSIOMS 2 6Teng ?
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A: China
Feorm

B: America

2QWl&&sT
C: India

@bHwm
D: Russia

geiguim

142 142
Relate the atmospheric layers with their property :

[a) Troposphere {i) Very rare air

[b) Stratosphere (ii) Burning of meteors
()] Mesosphere (iii) Weather changes
(d) lonosphere {iv) Low temperature
(=) Exosphere {v) Orane layer

su6Tf LDEBITL 6V (B & (S HEHLEIT B S60T ListiTLSemem GlUM(HSS5IE ©

(@)  engsuefl e suid ) Blsaud Gsnmeure srHOI
(b)  silh\sGsuaf] wetTL VLD (i) sSletoT M &6 6Tifl &H60

(c) @lemLsuatf oevtTL6uLD (i)  sumesflemsu mmiLim(h)

(d)  opwssfl wedrLsuld (V)  (msombs CleuliufBlensy

(e) Lymeusifl LoeweTLsvLD (v) spGaFmeiT LIL 6ULD

A (@)-(id), (b)-(iv),(c)-(1), (d)(ii).(e)-(v)
(@)-(iii), (b)-(iv), (¢)-(1), (d)-(ii), (&)-(v)

B (@)-(iii), (b)-(v).(c)-(ii), (d)-(D).(e)-(iv)
(@)-(iii), (b)-(v), (¢)-(ii), (d)-(D), (e)-(iv)
C: (@)-(v), (b)-(iv)(c)-(ii), (d)-(i).(e)-(iii)
(@)-(v), (b)~(iv), (¢)-(ii), (d)-(1), (e)-(ii)
D (@-(iv), (b)~(iii).(c)-(v), (d) (0).(e)-(ii)
(a)~(iv), (b)~(iii), (e)-(v), (d)-(i), (e)-(iD)
143143 Daily requirements (grams) of carbohydrates amount is .

STICLMemamL Gyl qer Herafl Gxemaiuiler Siema) (R Fmuilev) :

A 40 grams
40 M
B: 150-200 grams
150-200 &FTLD
C: 70-100 grams
70-100 @FITLD
D: 100 grams
100 ®yrib

144 144 Choose the wrong pair.
(a) Oxygen - Combustible gas
(b) Nitrogen - Active easily
(c) Carbon di-oxide - Photosynthesis
(d) Nitrogen - Growing for plant
SHEUMTET G emetorenll CHIHOSH&SHLD :
(a) 2b,86n360T — HMeoTM&HCou FLILIMHN eTiflud
(b) ™BL 60T — ererfl@lev eflemenrfluyh
(c) BTFTLGTOL 25T - eeflF CF&Hamns
(d) e BL_IR60T — STEUT QUeTT&SF

A (a),(d)
(a), ()
B: (a),(b)
(2), (b)

C: (c),(b)
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(c), (b)
D: (b),(d)
(b), (@)
145 145 Which of the following is the natural adulterant or adulterants ?
LIletTeu [ euenTeu D mI6T 6751 @WIMHeM ST SeVLILIL LI QUITIBHET (31) QUUIMB6TEH6T ?

A : Chemical residues of Pesticide
LEF & & TS 0HH SIS 66T 6TEh T W GeuBLIGLITH6T
B: Calcium carbide to ripen bananas and mangoes
QUMEMLOLILILDLD, LDMIDLILOMBIGEMET LIRS M6l G HTeGIWID &STFanL(®
C: Prussic acid in seeds of apples
2 UL 96T eflem G &Harfleh SmevoriLI(BID Leb& & Lfleuld
D: Carnauba wax coated on fruits for shining appearance
uipraigserler W& LiemliLeTl I h&mes i ILGILD &MyGeT LT QLW E.
146 146 Which one of the following is the application of concave mirrors ?
L9\ 65T6u (5 6u 6vTOU D MIGT 6TF1 & LSIWIMIQUN 63T LIWI6GOTTGLD 2

A : They are used on roads where there are sharp curves and turns.
Fren e erfler W&Ea D GMIS W MHMILD BIL LILDIT6ET 6160)66) & 660 LiedTLI(H) 8 T meor.
B: They are used in vehicle as rear view mirrors.
QUTg TRl G660 LT m &MTLG 919.856mmas LI LI 6oTLI(H & 6dTm6or.
C: They are usually mounted on a wall or ceiling where hall ways make sharp turns.
SOIT W eUMETE&H6T Q&ML &L 1GL SH 6T FeUFHET V6V FnedTH6TI0 QUTHSSLILL LB GLD.
D : They are used in reflecting telescope.
BTG @D Q& TeneVGHITE: S G660 LiedTLIH 8 eormeor.
147 147 Which one is the example of oxidising agent ?
2,5nRCaTHNEG @F 7B S5S81HHTLDH :

A : Palladium

LI6uGeulg Wi

B: Platinum
LNemmi_iqeorin
C: Lithium aluminium hydride
1SS WD Ssiidlellwih enamL en @)
D: Hydrogen peroxide
AL JE60T QLITTE MV (B
148 /148 The average internal temperature of the human body is :
n6oflg 2_Ledletr &rma] Qaulill Blevev :

A 986°F
986°F
B: 9.86°F
9.86°F
C: 98.6°F
98.6°F
D: 96.8°F
96.8°F

149 1149 Which one of the following is suitable for compressed air in tyres ?
B LD 88 600TL_aUMHMIGT 678 LUWIT&6ledr HWSSLILLL STHMIGHE WTHMTE 2_6Terg ?

A : Helium
anfedlwiln
B: Oxygen
21,860 2607
C: Argon
2,75 60T
D : Nitrogen
6B LT 2607

150 1150 Which one of the following method is used for separation of Methanol and Ethanol mixture ?
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QDG S EOTITEV LDMHMILD 6786016V &6VHS &6V6MaIED L BLD& 60T 6 (WPemmuiler epeuid LIflé&eumin :

A': Solvent Extraction
SN TLILITET FTml @Mm&&H60 (LNemm
B: Chromatography
auetoreoor LI flemas (emm
C: Distillation
eTeflW STULFR 611G FHev
D : Fractional distillation

LN eoTe0T8: HTUIFH aUlq.S 560
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